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1. 1- Shortand swollen underground stems containing
stored food are called -

suckers & (D) rhizomes /"u‘éb (C)

2- is an example of receptor.

eye £7 (D) brain s (C)

3 - The step of joining specific amino acids by ribosomes

to form protein is called

duplication ‘f»‘Q’ﬁ (D)

"replication /¥ (C)

transcription % A (B)

S S bnd A z._;{u:){_;

Ui :‘“_’.L';rt% U a/.f"i ../bi.’

corms 4 (B) bulbs ¥ (A)
-6 St/

glands 2f (B musdles +(A)

)Oﬁ./c.c il U"/ f/:’ !(J/'/V' up:"“;g(/fb
u*qf

trar‘élatlon u”H/

4 - The relationship between two different species in which one partner /YA J* q“" Wil £ 2 ¥

is benefited while the other is neither benefited nor harr_ned is called

commensalism ()fcff (B)
competition XL (D)

5 - The situation where, in heterozygous genotypes, both

the allels express as ablend is called

co-dominance u’w:/ (B)

recessive v @

6 - Which one of the following is an exa
aspirin ¢/ 44 (D)

7 - The weight of kidney is
140 (D)

3 (©)

120 (C)

8 - Conversion of nitrogen gas into nitrates is called
G4 (B)
nitrogen fixation u%"'{y’-a/"t (D)

assimilation

9 -  Which one of the following is antiviral protein?

interferons %3241 (D) insulin ¢ (C)

10 - The number of bones in vertebral column is

28 (D) 26 (C)
11- Normal per minute breathing rate in human is
30 - 40 (D) 25-30(C)

12- Which part of plant develops into fruit?

ovary (.l (D) embryo ¢ 4 (C)
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e hallucinogens?

& L"lk(n uu‘b‘;,é LosB 2 :Q./::f:‘ Iy

ism (s (A)

O parasmsm (Jf LAz (C)
@ 70 U‘CDJ/T Jz L)(V ,—J!‘U)f
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incompllete dominance N e (A)
¥ (C)

fe. J& 5ol it e Ut it
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= by (5/ s (4_1/;
100 (B) 80 (A)
B t'Ll/b)/J,vU* Lf'/’LfJfJJ/L

denitrification u"ﬁd/w: (A).

P “dri (C

fe yf:{ J?'JL?"' He 3t
urokinase 6.4 (A)

ammonification

J:
{
i

[! thymoéin o (B)
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24 (B) 22 (A)
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Time: 1:45 Hours  Group: I SUBJECTIVE _ ... dwi oSy & 145
Marks: 48 v/ )Y 48:%
Note: Section I is compulsory. Attempt any TWO (2) (2) e ch.. u:ru,-» -4.6111 Jil o s
_ questions from Section II, Section - 1 d:i el .—U:N:...ULV
2 - Write short answers to any FIVE (5) questions.  (2x5=10) -i{f@@&/‘*ﬁalﬂr (5) ég e J:(- 2
i- Whatis pharynx? ) e |f S -
ii - What is the function of fluid present in pleural membrane? T r(gf K3t g A -
iii- Why does the skin colour of pneumonia patient become dusky? e tlo s (sl N e e e B Ly -t
iv- What is dialyzer? S WA iy
v- Write two problems after kidney transplant. & S & ¥ v
vi- Write two functions of oxytocin. _é Z er Iy o Jiu’( [
vii - Write two hormones secreted by ovary. el sl mdty byt Ll e Sussl - Vi
viii- Whatis epilepsy? e YV, -viil
3 - Write short answers to any FIVE (5) questions. (2x5=10) -—é//u“f/‘féumf (5) é L & Jf 3
i- What is meant by antagonistic action? % s !...@f G -
ii- What are ball-and-socket joints and where are these found? U Ll L. n ix L/..J!a 2 Lov'dt -1
iii- Define external fertilization. <g/ O 2y N Lj//( bo-iii
iv- What is the difference between spores and endospores? e g/ {/ s skl sl e - v

»¢ (Bred) £ sl 29 (Bred) bs S50 S+ -vi
b sty

vi- What names are given to bred animals and bred plants i

v - Define incomplete dominance. C § z -é_.d/’Jf"’}‘}‘ J‘:L -v
artificial selection? %g@

(A13.)
vii- Define theory of special creation. @ e L Fe 0% - vii
viii- What are the traits? O o &L LU i
4 - Write short answers to any FI questions.  (2x5= 10) _2{//7 utb’/-? L=l (5) é L & J/ 4
i- Define ecosystem. Give n n artificial ecosystem. & Je SR H1 G 2 S ("’ f I
ii - How do you define an e&lo&éal pyramid? 14 o d’ Ny 5§ 417y Jé:’:f IL T i
iii- Why host gan survive without parasite but parasite cannot syt S /7 ‘“« L‘Cu/ 0k 2 £_ A i./y -1
survive without host? oo SAL
iv- What do you know about ozone depletion? U el g’.,TJ"’L ufgfc)ml -iv
v- What is application of fermentation in beverage products? Y Je Uy u’-h)/ o Lf"/;l{ _,,/*" -v
vi- What are interferons? 0 Ln U hdp v
vii- What are two precautions before taking medicines? “u" l df ,—u u" Ul (e uf :Z & dj. ol vl
viii- How bacteria develop resistance againt antibiotics? /4 a__/'/ I J ety S L u’g*bd I /-L - viii

Section - I (2 -

Note: Attempt any TWO (2) questions. v a&fﬁﬁal’lf (2) ne Gf O

5 - (a) How kidneys perform their osmoregulatory function? (4) St &0 Yl /c,j.( J” djz_’fj 3l aad Gy =B
(b) Write the structure of bone. (5) -é;}&b de} ()

6 - (a) Whose role is to regulate the blood glucose concentration (4) bEKS S r"" S )/‘/ g g1 SurLl () (W) -6
in the body and how do insulin and glucagon function in uf Kful u‘»’ﬁr o &, J’/.;./. v Jte U e
maintaining this balance? s /¥ cf

(b) Write a note on female reproductive system in rabbits. (5) & Oy (/ ;’/3;46/ o & 7 (2

7 - (a) How can we get gene of interest by the process of (4) DI Kuﬁj e L g (L) - T

genetic engineering? s E S S
() Describe sources of drugs in detail. (5) -vlé.{d’lgz & Méb) LSS el (&)
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L R e e Ll wﬂ:é/:c:.u &V(CJ‘}’/Z/; L}’K(}fﬁ ..g{;.‘fé,) D . C« BtAptfﬁjJ%L Jlr‘/; %)
Kt s N2 sl (2 .’:«/}“’JL/J&/&(LL//::(UJD wl < o s f e Lf'L/CC oo 3 Qb A

1. 1- Number of bones in human skull is e B Sk sgF U 1.1
26 (D) -~ 24 (C) 22 (B) /" 14 (A)
9- 50kg yeast can produce 250ton protein in G s /60 ’c‘»:(i_fb“.g qf:;/ & 250 f.w; rI/;KSO -2
24 26 hours (D) & 20 hours (C) 2 22 hours (B) 55 24 hours (A)
,f b
3 - Biotic component of ecosystem is / e 37 ST %13
oxygen ST (D) sparrow L7 (C)  temperature Gt (l}{ soil & (A)
. - /
4 - Ripened ovary forms ’;’ & Js Py .{ Yasl -4
egg ufi (D) fruit J‘f ©) seed /@ (R) sperm (7 (A)
/f
/ T
5. Organ which is responsible for filtering blood § e zlé./ /‘J’/ sy gcl e -5
kidney "4 (D) stomach o+ (C) bra}ﬁ intestine /&4 (A)
6 - Inheritable characteristics are called o @O Ut CW ;,&4,»5 &fb, -6
traits u’:‘} (D) phenotype .jL‘it" (C) (@éﬁcs uﬁ:c“’ (B) genes 2 (A)
l/l % »
7. Antitoxins are obtained from @ Iﬁ‘w de & S e S ok e -7
minerals < ={» (D) fungi é@) ,pjlants e Uy (B) animals < Usfb (A)
8 - Processes that carry nerve impul from J."" Sl me dsgdff 2 E LAl -8
the cell body /
dendrites /%5 (B) ;/‘ axons Sk (A)
myelin sheath #2M (D) / synapses v ©)
9 - Units of inheritance are /’ V1 et -9
alleles 4 (D) DNA oI lds sﬁ) histones v+ (B) genes & (A)
10 - First trophic level in an ecosystem is / e b I By S (;_/ %1 -3
producers J/ﬁi{ (B) comsumers J/g}{ (A)
4
symbionts J]'g/ (D) decomposers J/));,fd 5 (C)
11- Method of asexual repreduction in Rhizopus is & Y. Kﬂ%dj J}?‘_; £ s <11
budding 4% (B) binary fission u”d/’L (A)
endospore formation Sl skt (D) spore formation / & . (C)
12 - Most of the gaseous exchange in a leaf occurs through e b e ul[.bt; sk KU yfu'i e -12
general surface « 5}& (B) stomata < o (A)
lenticels < )"&“‘ (D) /»/ cuticle < Lf’;:( <)
iy
120-(1I) -15t A 224-69000 (A



BIOLOGY Paper: 11 AUt L eAJFGEE (1A 224) 1 g4 b
Time: 1:45 Hours Group: II SUBJECTIVE di :/Fl/‘» & 1:45 1=
Marks: 48 4 2 Y 48:/%
Note: Section I is compulsory. Attempt any TWO (2) (2) »e J/ & u.‘-'r»,.-o - il 1ad
Section -1 J3 - A ez L =ty

questions from Section I

2 - Write short answers to any FIVE (5) questions.  (2x5=10) ..Ef:f{/’:.aglz/.?é:alﬂr (5) é& & J:(- 2

i Write two bad effects of smoking. e unl S -d
5. Wiite the role of air spaces found among inner cells of fe U)K SV LKL UFs UR -
leaves and stems.
iii- Differentiate between acute and chronic bronchitis. fe. JAU A u‘%’u. Kl u,):.( -l
iv- What are hydrophytes? Give an example. S e te oy Ve UL v
v - How plants excrete their metabolic wastes? S L/J& e Ul »#0 Aot U L/ﬁrf eleny -V
vi- Whatis the role of vitamin 'A' with vision? ‘.‘4‘; J‘Jg; e § AL -
vii - How do stimuli provoke-responses in organisms? St LSk c;fJi/ U Ukl JU:}’ - vii
viii - How many are the main components of co-ordination process? St st 4l 71 Z‘C J’L gf‘l};‘ﬂ/ - vill

3 - Write short answers to any FIVE (5) questions.  (2x5=10) -ixiutl!/"‘[_uﬂb’ (5) é e JJ( 3
i- Differentiate between locomotion and movement. -&Gu/u.‘.' =7 sl J/y@ -1
ii- How does osteoporosis occur? Q@ e e B U Uy ol -l
iii- Whatis alternation of generation? @ Ye- oA ST u”/ <58

iv- Write down two disadvantages of vegetative propagation, @ Lo s L fg

fe Jud’tz— u"ul/: /D!/ -y

v- How transcription is different from translation’?
% ~<£’Fft L o Safip dh il dLu" RNA -vi

vi - erte the names of four nitrogenous bases found

o n
@e@ A RO PO b ST & Jar il
notype. -&Gu}u” .../L/’ sl FURE - viil
(5) questions.  (2x5= 10) ,z’_’f//...,uf/"L...mr (5) é e Jf
4 d‘dv_f et Lf/////
g LS e Fegk Lol Moy i
N iJ/’d/()/u”’/ «1id
&b (té:'f:.fgf}yq)/» -iv
. flud &P G v
s RF -V
ons? Ut u‘"u;fwé_ L /’CWU/QJ/JCJLJt - vii

{04 d(v d/w' PERRCH LYY .Jj) 3 - vidd

Vit - Defgne Mendel's law of independent
viii - Differentiate between genotyp
4 - Write short answers to an

i- What are consumers? Give‘one exapmie.
ii - Name two processes which upset the carbon cycle.

iii - Define commensalism. Give example.

iv- Write the names of two green house gases.
v - Why is biotechnology important for environment?
vi- What are interferons?

vii- Why the antibiotics are not effective for certain bacterial infecti

viii - Name two drugs, derrived from minerals.
Seétion I oo
-ée&lﬁ_ﬁolﬂr (2) we él( b d

Note: Attempt any TWO (2) questions. .
(j]f?“-, 1Vd k;’/c, Loyt B Lo/ (-5

5 - (a) What is meant by kidney failure? How it can be treated  (4)

by kidney transplant? Te e b Lfc_f s 125l &
(b What is a joint? Describe its types on the basis of (5) r'\.«’l Juf £ sl u(.w L =57 e U’...«li' (o)
degree of movement. &7
6 - (a) Explain the process of hearing and describe the (4) L1011 35;. Jo ol & c‘fu /J‘Z () -6
role of external ear in it. -éug
() Explain the structure of flower by drawing its diagram. (5) & St Poolos f sl JU# (D

e u//f” e § DAL B - T
g KPS T ()

7 - (a) Compare the batch fermentation with continous fermentation. (4)

() Explain mode of action of vaccines. (5)
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Marks: 12 Code: 7467 y ~/-23

L I ern e K u:}béé.: &VLJU’;{QKQL?. ,ufc’fé”..)DulCtB:Awglﬁjz,{g&d!rﬁ ik
K na® e 2 widd Ut .:wr"Ji./zﬁ/&K&L//::(u:}b b e Al s f e AL S o2 s Jbe

1. 1- The drug which weakens short-term memory is
2 sedative %4~ (B)

marijuana t724< (D)

9. The method of vegetative propagation in mint plant is by
corms 7 (D) leaves £ (C)

3- Last two ribs protect the

liver J /5 (D) spleen J J.J%’ (C)

4- The respiratory surface in human body is formed by

cartilage é’f»b’ (D) bronchi (ksc (C)  bronchiole d::b/'

5- The primary source of energy for all ecosystem is
water (3} (D) plants «¢ (C)

6- The outer region of spinal cord is made up of
neuroglia Lﬁ:u.’: (B)
grey matter }a,f (

7. Unfertilized bees eggs develop into haploid mal

kings * (D) gueens,
@

insulin g2 (D) interferon_ 2R (C)

8. The name of an antiviral protein is

-

9- The expression of genotype in the rait is called

e UiUn- (B)

§ - genotype #¢5% (D)
10 - Cartilage forming ce e called

osteoclast -1 (B)

chondrocytes Sk (D)

11 - Charles Darwin proposed the mechanism of organic
evolution in
1838 (D) 1836 (C)
12 - Carbon becomes a part of body of producers by
photosynthesis f‘d;’j;’ (B)
metabolism (4 (D)

118-(IV)-15t A 223-73000 é

kidneys §un/ (B)

' O v "
called @@fftﬁg’ LAl & J(J,uf
©
Ao

o 8T ) Gkt ekt S 7 (Drug) 3
tetracycline o412 (A)
morphine uéJL (C)

TS 3/ Kcﬁ“g'l{ S &tk (Mint) &
suckers 1~ (B) stem tubers J/.::‘(f (A)

ut 8 e Ui » 7T
heat b (A)
b & Mg Ut (7 OV
(B) alveoli  JusiSst (A)
e 25 ORI GAL L FEI
arth ¢~ (B) sun Cu (A)
o b b U o 6 3K S

dendrites U iz (A)

white matter 271 (C)

gt W

}i’?/ (C)O%&% rkers i/ (B) drons 5 (A)

&t KUE»; s L

fibrin ¢/ A6 (B) myocin ¢A¥L (A)
< b1 § P U2 U o § (Trait) e/
dominance u"‘fdﬁ (A)

phenotype <* ] ©)

gt LW KLy LB

osteoblast =hsrT (A)

osteocytes T (C)

Wy f ok K iy T L wals e

1835 (B) 1820 (A)
2he G2 87 L iy
carbon cycle Sk (A
repiration c*ts (C)

15
12 ).
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Time: 1:45 Hours Group: I SUBJECTIVE ... éﬂ’l .r.of 4 él".’ 1:45 ;=3

Marks: 48 &u] - 48: ,f 1

Note: Section I is compulsory. Attempt any TWO (2) (2) Ne. Jf & u:r”..ao 534 Jilo e
questions from Section IL e el Loy

4 Section ~T Ji1 .
2 - Write short answers to any FIVE (6) questions.  (2x5= 10) -ﬁ;f ...w/""é.;.uw (6) 5« be Gf 2

i- Write down the symptoms of emphysema. & Sedd -4
i~ Write down the primary goal of World Health Organization - il lL S e AL Urse?s
to prevent lungs cancer, @Y B
iii- Except lungs on which organs of body smoking affects? LI 7 ol u( oL (’ e L st -
?.:{:_ dﬂ
iv- Define homeostasis and write down its any two processes. e L nn s 378 e iy
v- What s lithotripsy? ' e e v
vi- Write down the difference between receptors and effectors, BN 3T A VP X -vi
vii- Write down difference between axons and dendrites. GG Akt Et vid
viii- What is the role of rhodopsin in eye? | MK b L FT oviid
8 - Write short answers to any FIVE (B) questions.  (2x5=10) -é’(f @klﬁfgféaﬂb’ (5) 5 be Jf -3
i- Give functions of bonés. eI s i
ii- Whatis meant by skeletal system? e sir Ve -ii
m - Define parthenogenesis. ..’q‘; ..é{/" J u""z'""',é.*“ig - 1l
iv- Define pollination, also give Its types. .;2*,.: (frlJ! J1 72 é i.g/” (f u"»‘dg -1y
v- What Is meant by translation? Q& e drfe uﬁw‘u',’ -y
vi- What is meant by codominance? Tq._ A I_/c— u‘*"“';,# -vi
vii- Differentiate between genotype and phenotyps. /\(\O -z{{ ff 1 30 .,r’h‘d' e i
viii- What are dominant and recessive alleles? % St Lyl s K ity ol wss - vii
4 - Write short answers to any FIVE (5) questions. @ -i{/’ uwﬁ’z....mf 5) é f e G,f -
i- Write down names of two basic components of eco Ll an s L E
i~ Differentiate between food chain and food we @ ..if g i 39000 %49 mi o
iii- How smog is formed? Write down its tw K Aen e FrAS S i
iv. What is meant by environment friiq T oy l{ & SR s J.PL -1V

- SN -y
Vsl ieSu sl P v

v~ Define biotechnalogy.

vi- Write down names of an

fermentation, & Ll
vii~- Write down the use of analgesics. . &8 Sy u";fﬁl -vii
viii - What is tincture of iodine? te AT i
_ Section - II 12 >
5 - (a) Write down a note on halophytes. (1) iy Sk () -8
() Write down detall of cartilage types. (5) L e e é’js’ (o)
6 - (a) Write down the names and functions of four (4) S I e LSl L ppe () -6
{obes of cerebrum.
(bj What is budding? Explain budding in yeast, (6) 2 wolos f B S g fe if s (o)
also draw labelled diagram. &b (l)ilj Yl
7 - (a) Describe the types of fermentation of carbohydrates.  (4) e o1 A (D) -7
(&) What are sources of drugs? Give examples. (6) St ine Wl Blait (L)

118-1tA 223-73000 7
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BIOLOGY Paper: IT (% Ut Il sy JAGEE) 15tA 223 - () 1T 4 e
Time: 16 Minutes Group:II OBJECTIVE - Ty :f by & 15 1
Marks: 12 Code: 7466 é u)-2- 23 12 : /%

é:ul_?urwa,u*u:/';zc.,:d.b—é:dfr//(é(d!i B ELELsDsCB A._fl,lf'.f/lpédlr/- O
Kt u’ioua ~WJ"J"—-/4 ....«KLL)ic:QJ:xb ol e L 'é’)/;:.u‘."tfb :(o/b,,ah/dl&f

1. 1- Allofthese are the parts of axial skeleton of human except ARTV P Kg)"‘-’c FE L gun Uy -1.1

sternum  # (B) ribs  %s (A)
vertebral column A¥J A (D) shoulder gir:ﬂe S8 (©)

2 - Rhizopus reproduces asexually by 2k < 6/ f"bg./ J‘fr? o s éb -2

N ) regeneration %25, (B) binary fission W d/'l. (.Af )

vegetative propagation /<%, #7; (D) spore formation (&) Tk (C)

3 - Biotic component of an ecosystem is ' < Z L KH" £ i -8
air In (D) plant by (C) water Jf (B) light (v (A)

4- The drugs used to reduce the pain are called Ut O el s L Fo -4
antiseptics u’g\{é’-l (B) analgesics u‘c':’”dtl (A)
sedatives J#zi~ (D) antibiotics o &L?." ©)

5- The gaseous exchange occurs in humans & tn b ¥ u,»*f S UIUl -5
alveoli UGz (D) bronchi A (C)  trachea LU (B) \ pharynx AU2 (A)

6 - The tube between kidney and urinary bladder is called & @g{;ﬁ{» L ik §mat ol 4..:/ -6
nephron s ¥ (D)  renal tubules e J% (C) urethr. @B) ureter Auz¢ (A)

7. The base of food chain is always. 2 g\ & b 2o S -7

plant 1y (D) bacteria | /C (W% sun (. (B) animal /9 (A)

- u"u e fl -8

8 - An antiviral protein.
j@ (C) thymosin u’rdw (B)  urokinase /‘K:u,v' (A)

interferon L:«”/.?j‘" (D) insuli

9 . After fertilization in plants, the fruit from G ¥ J" oL IS Uny -9

ovary A S B) ovule wall < s § Upssl (A)
Q anther < fﬁ (D) petals « #% (C)

10 - All of these are harmones except Lyt o ed, <10
pepsinogen /24 (D) glucagon f¥¥ (C) thyroxin ol B) insulin o2+ (A)

11- An organism's expressed physical trait, such as seed B LG ee® s w6 S i ol -11
colour or pod shape is called its < QP
phenotype <* by (B) genotype FUx¥ (A)
physical type 7t/ (D) karyotype wtiZ (C)

12 - An example of discontinuous variation is &« Jt SeldS" 4 -12
blood groups Jés/0k (D) intelligence =45 (C) weight o (B) height & (A)

119-(111)-1St A 223-69000 ;



DIVILAI L A RPVEs 1L T = B
Time: 1:45 Hours  Group: II SUBJECTIVE -
Marks: 48

Note: Section I is compulsory. Attempt any TWO (2)
questions from Section IL.

Section -1 J¥ %

& 1:45 R )

4.8:;}5(.

(2) e J/‘- u‘runﬁ’ -f—dll!df‘.d' it
& wir £ oy

@;y'~ 9-253

i

9 . Write short answers to any FIVE (5) questions.  (2x5= 10) .&}j u‘.'a}’.ﬁ/y L et (5) é be Jf -2

i- What is meant by cellular respiration?
ii- Degeribe the function of nasal cavity.
iii- Write down symptoms of bronchitis.
iv -

v~ What Is meant by osmoregulation?
Write down functions of hypothalamus.

vi-
vii- What is hypermetropia? Write down its treatment.
viii- Write down the role of somatotrophin in human growth.

3 - Write short answers to ‘any FIVE (B) guestions.

i- What is meant by ligaments?

ii- Why density of bones reduces in osteoporosis?
How natural vegetative propagation occurs by corms?
How sponges and hydra are reproduced by budding?

iii -

v- Differentiate between breeds and varieties.
What is monohybrid cross? ‘

Vi
vii- What is difference between dominant and recessive allele?
viii- Write down the bonding between nitrogenous bases

in DNA model.
4 - Write short answers to any FIVE (5) questions.
i- Define community and ecosystem.
ii- What is role of decomposers in an ecosystem?
Define commensalism and give one examplg.

(9)

O \

Write down any two examples of endg 5 s<)
N

iii -
iv -
v- Write down uses of glycerol.

vi- Define recombinant DNA. <\ \
vii- Write down effects of e in our body/
viii- Why tetracyclins are not used in children nder

the age of 87

White down names of four waste materials excreted from plants.

(2x

S sl W RALHe -i

e SYELUR -i

_ 2 fele §UM -
.."afﬁ-./"frt L sk s62 A ind o Uy

iv

g oty Ve w"'»:fzﬂ -v
LI LEY i

25 e KUt kA vt
S A QK S v

@xb=10) -Zfelg Loty ©)ELe /-3

et e o™ -

v;.&wu[d’ut.:bﬁ’tfut Sl -
?4.(3:?4@’-’&:4% 134-135.)'»( - 1l

ALJ@JJ};LJ)U{.{ -iv
LS ks -y
te YV Lalpdr -vi

S 'k(utddm.“'-'um-haﬁf - vii
£
@@@@wmw JHDNA -vii

@/ﬁ}g{f’awﬁéaw ®) by -4
SN LS
S LY K3 R i
L Je g wf Sk -

o LSl Ph

I
"/

& dl‘/ »y Al -iv
A e L dﬁ/«r -v
/S ONAwadys -vi
-go}'—"}'{ (":..Jh Luézk - vii
Sl 7Rt vl f e Jo #T -vii
{0

Section ~ I1 (s -

5~ (a) Write down the causes and treatment of kidney stone.
) What is arthritis? Explain its different types.
6 - (a) What Is feedback mechanism? Explain its two types.
(®) Describe the female reproductive system of rabbit
with the help of labelled diagram.
7= @ leferentlata petween alcohollc and lactic acid

fermentation.
() What are addictive drugs? Write down their source

and effects of hallucinogens and marijuana.
11918t A 223-89000
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Time: 15 Minutes

Paper: 11
(Group:I)~

Marks: 12

Ll ..._.:Lv? Sy e S Us A & &ad e L Jis

Kt 1 -y ey ¥ »;'.JJ:“’JL./(/:/U

genetic engineering.

“ ligase ﬁ!’dU (B)

restriction endonuclease zlc)b;é:i'duj/‘/ (D)

v

118-(IV)-222-77000

(o U T JFGIE) 222 - (i)

-~ g Ay
Ry "
OBJECTIVE (o Uy e 16 1
Code: 7467 12 : /0

ag ¥z . L b ac. BrAobz L/l i o)
KL/../4fu:/‘: nl) e L Z‘:J/c_.u’Lft e P b

...... (;',f

\d"

-

s 1= _Is an example of xerobhyte C'UJ“ —6 /__ 22_ —e Je 5 i i §ld
hydrila &.%{ (D) sea grass u‘\fduf (C) ‘water lily s \(B) cactus uiﬁ (A)
2- amma!s have exoskeleton. - b e Uss 9l i -8
birds c.J,;/ (D) reptiles )u:./ (C) mammls 2% (8f/ arthropods BhAT (A)
3 - External fertilization occurs in animals. < O I WS LT st -3
amphibians  ZIJy% (D) _reptiles #bw ' (C) birds <47/ (B) mammals < (A)
4 - Bred plants are called U il JU/J,}_/: Ju’ LISTRTINRS
carnivores ;m(bs’ (D) hérbivores }md s (C) breg ds ht ®8) cultivars )JI,JV (A)
5 - is not a type of symbiosis. @L i (' Suag’ .5
mutualism‘-'- pilasn (B) @QW parasitism ez (A)
commensalism r)'-’u’ Y (D) (\O predation (ﬁé{ (@)
6 - Diazepam belongs to | group of medicines ‘\ . ..(;f P el u‘” ¥ LUK w6
énalgesics u’cf&l (D) gntibidtics u‘{;‘ ‘5 sedatlves Sxie (B) vaccines /(I_.” (A)
7- Most of the gaseous exchane ina @4?9} <t D ol Ku;)f e e -7
through ; & & st
lenticels  +5¥ (D) surfach, { gk (C) stoniata Lo (B) cuticle £ (a)
8 - The number of pairs nerves in hunfansis., _ . = A Ushz £ iyt Jl: Ue gl -8
31\(C) 24 (B) 2 (A)
9 - Rhizopus reproduces asexually by il LK S SrFe e u'a'uh -9
| buddihg £% (B) " “binary fission 5 (A)
fragmentation 2 (D) spores formation s (C)
10- In process mRNA is formedl from DNA. wUmRNAc DNA A FL Lo
translocation u“"lr"‘"ﬂ) mutation u” “x' *(C) transcNption oA (B) translation u’-‘l’ff‘ (A)
11- Charles Elton deve!oped the copicept of ecological MBLE P ¥ idizy Jodk o W] u'f.;f 11
pyramids in
1927 (D) 1925. () 1923 (B) 1921 (A)
12- enzyme cuts the gene frém DNA in e NI E K e DNA AL B L2

St

\ lipase };-,JU (A)
'-"‘5"».4 e ’
© amylase W (C)

L Saget

~



AOGY Paper: II {fyl -II..LJL JEGE) 222 Il z¢ e
Ame; 1:46 Hours  (Group:I)  SUBJECTIVE ... Jesir (e ) & 145 s
Marks: 48 - : 40)‘. q 48'(/{ L
Note: Sectlon I'is compulsory. Attempt any TWO (2) (2) e Jf 2. r»..a ~gJJU Jil o 1)
questions from Section II. . ez Lo iy

| Section - I il .
2 - Write short answers to any FIVE (5) questions.  (2x5=10) -zf;{f@gm/?[..-,mr (6) 6 be Jf~ 4

i- Whatls the function of mucus in nasal cavity? fe ¥y ¥ J[ JE i

i - Explain stomata, -2 ol e i

iii- Which bacterium is responsible for pneumonia? Se s K 29’ ﬂ,_z‘_c. Lyl

iv-  From which plants resins and latex are produced? < Jﬂ I ol YY1 Unj < ol -iv

feo bl {_«(4 Ll 5 ?‘." l_.ftn Wit ¥t - v
vi- Define hormones. Write down name of any two hormones. _al rt L il 5 e Jf ..2_'_"; .._y/'7 J A
vii - Write down a note on fore brairi.

v- Whatis kidney fallure? How it is treated?
- i
-2’f¢ﬁ4 o4 % P

fe ' U¥1as - viii
3 - Write short answers to any FIVE (5) questions. (2x5=10) -c‘:(fuu ié:ul}lr (5) & L e d/ o

viii - What is nerve impuise?

i- What is meant by skeleton? A I/l/c,( ) -

ii - Daeafine exoskeletorj. _é J/"J u""C r-.‘:i <fi
iii- Define dormancy of seed. {@\ _é’: .._»/JJ u”';l} J & -ii
@ L OIS U e i e Sy i

v - Write down the genotypes of blood group B. %S _al u‘*t‘:{‘-’ Jd Y;/,J. -v
vi- ‘Define-Meridel's law of independent assortment. /) -25 - /7 J Lyl c/'}gijﬁl ST L i i

iv - What is meant by pollination? Write down the name of its typ

(
@aiit by nucleosdmes? - 0

Vi V\/hatls' Y e - T

i --‘iﬁj:i:ff'fe"r;_én‘itiéte:.between dominant and re gﬁgles. S0/ 0en £ Mty i, 55 - i

4~ Wri‘te»sﬁb‘rt ‘answers to any FIV] 3) uestions.  (2x5=10) -é{;uuf/‘iéumf (6) 6 b d/ -4
i- Deﬁﬁé::decomposeré and giv né example. & Je LS Ui & iy Jur(d ;o=

ii- Define pyramid of biomass.

_.{_f_g/u’ut,;ggl‘f/g i
Yool Ve P02 i

iv- How carbon cycle is a perfect cycle? - ' . 7‘:;__ K By Lo S Fevd v
v - What Is glycolysis?

iii- What is meant by mutualism?

fe_ U (Glycolysis) 88
_& g nZ Jid i
S EAG gl i
viii - What is the difference between broad spectrum and fe O/ S rf'g;,;’ sl r/'gil/.
narrow spectrum antibiotics?

vi-  Write down two uses of ethanol.

vii - Define bactericidal antibiotics.
- Vil

Section - II (11 o>
Note: Attempt any TWO (2) questions from Section IL o2 L iy (2) e e ufr».-‘» by

B- (a) Explain the function of kidney in detail. | (5) el S SL LS (L -k
(b) Write down nate on bone and cartilage, in detail. (4) -£ ;/; N < @%b’ul Wy (L)

6 - (a) Define neuron and describe the structure 1+2+2 (5) w3b g S ’ZZ .y/" g Y () - g
of a general neuron. gk
(b) Write down a note on cutting and grafting. 2+2 (4) & d,s"{ S B G

7- (a) Describe any five achievements of genetic 1x6 (5) ULV 4§ & e dfc 2 /’f.‘;‘ L () -

. -en§i'ne.ering. -Zf.f e

(»y De-'s’cribe the types of dru.gs on the basis of 1x4 (4) 2{ Uk ru"l g winle UL ém ()

thelr sources and give examples.

& é: u?-" G i
118-222-77000
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BIOLOGY Paper: II (A a1 Ll JEEEE) 222 (I) II 2 S

Time: 15 Minutes  (Group:1) OBJECTIVE ... e (ool L) wor 15 2,

Marks: 12 4“7 d=2) Code: 7464 12 ;%A
Z AR sy o U U &£ & Sl

bz ¢ Q¥ Jiz —U_-‘éCé.JDJJ’C:BfA‘aLlﬂ;-Gz?bl:dlr/; %
Kot 1?1 A2 01 ufwzr’JLféfd,b/&Lféfu’/'b i e uﬁ-&‘:/c_ué,l:/:(. I o2 ke Jb

1.1- 250vyears ago, the world's population was L _Lf dﬂ,l’d’ 55 4:; Ju2s0 |
8 bilion o8 (D) 6bilion «*6 (C) 800 milion o*800 (B) 600 million 600 (A)

' 2- Gregor Mendel was a Priest in

- du& -.,_l,/l Us Ji{/{f -2

America /| (D) . England L8 () Austria 1,,‘/1; (B) Australia |k ~T (A)
3- ‘ drug is glandular product.

- S S 1k, <4
diamorphine wﬁ;/ty} (D}  terramycin a.‘ﬂl.'/.-.’ (C) penicillin  ebds (B) | musk (s (A)

4- Changes in DNA are called -t A’ Uk i &y U~ DNA .4

variations =1 (B) crossing over i _G1S (A)

mutations %, (D) recombinations /’:ufdz (C)

6.- Male reproductive part of flower is B, 2SR KJE 5

gynoecium ff"tjlf (D) androecium ’-uial (C) corolla 1) (B) calyx u‘g‘f (A) =

6 - The main Components of a bone are

Uk ' LAaLgi -6
marrow, spongy boff@ W (fg,«u:fo:x;“ b (A)
marrow, v‘ :-1 e, wax Jg;«ux A A o (B)
compact bone, Spo ‘-%’,% r\n/arrow b Wy J;:;f‘f u:{».'.-g:f C)
,‘6 compact b0ne;; marrow s u;f&_?./ (D)
7 - enzyme is used to dissolye blood clots: e @ ~g= b Jit 5850, AL s flj/':f____ -7
ligase #UU (D). endonucieake ¢"é @) urokinase ;dn‘b”:).f (B)

developed the concept of & 8{ogical pyramids..

thymosin 2/ % (A)
sl Kb S g
Charles Eltap” o0t (B) Charles Darwin - wats Uy (a)

Gregor Méndel L X @) ) ) Lamarck Ay (C)

9 - - Fertilization of eggs in ferpéle rabbit takes place In - cln L 027 Wi Ukl Ut 2ol - 9

fallopian tubes x« %# (D) ovary (Sl (C) uterus- J/‘Q (B) vagina Elg, (A)
10 - The smallest bone/of human body is . vy i (3:9,.’ e o r) Ul .10
pelvic girdie sk (D) ‘ stapes Ut (C) \mst A (B‘) malleus &% (A)
11- Most of the/gaseous exchange in leaves occurs ,q.l:n 225 D ¥ urd JOLiURUgE <)
through . :
lenticels (}u-j 0y cuticle Jf’;..f (C)  general surface 27 (e (B) stomata Ly (A)

12 - Quantity of urea in normal urine is R . -4 O —_— gl Jg.,.;' VBt -1y

9.3 (D) 1.87 (C) 117 (®)
118-(11)-222-77000
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BIOLOGY Paper: 11 (ﬂ: JE TT o JFUIEE) 222 I 24 Sk
Time: 1:45 Hours  (Group: II) SUBJECTIVE - dei (w2l ) 5 1:45 225
Marks: 48 48: %

Note: Section I is compulsory. Attempt:any TWO (2)
questions from Section IL

(2) ne f & Lo c il o b

q z-zL & eyz £ ity

. : Section I JJ' -

2 - Write short answers to any FIVE (5) questions,
1- What is meant by cellular respiration?

i - Write down any two symptoms of emphysema.

iii - leferentiaté between acute bronchitis and chronic bronchitis.

@2x6=10) -Z il Loty (5) oL dF-2
el Ve s e i
R S VNt 217 (1 G VTt AT
L 5Pt P B S bl i

__iv-_Define_homeostasis-
v- Write down any two major causes of kidney failure.
vi- What are endocrine glands?
vii- What are receptors? Give an example.

viii- Compare the dendrites and axons,

E Y e

e asSun S L oS
Ut Yokd ALk i

“ZsJe et Vet i

gL o ¥ E A Sk - i

- v

3 - Write short answers to any FIVE (5) questions.
i~ Which two minerals are found in bones?
ii - What is exoskeleton? Give an example. '
ii - Describe stem tuber with an example.
iv- Define dormancy of seed.
v - Define genstics.

Define chromosome.

vi-
vii- On which-plant Mendel performed-experiments.
viii- Différentiate between gene and allele.

4 - Write short answers to ahy FIVE (6) q

@x6=10) -Z fepz FLloir G) bl d/-3
tut Ot Ok cboam s 5F UL gs -
& Jv..(fVc_th"'C/f i
The Jo L1 R 2 i
-éJ/JJ‘CUJC -iv
Ay AT
IS i
A SPIEY Y
G AL ST - viii

@Q

té@ (2x6=10) -ZEyfciiz/ ZL i (5)&&:.0/ 4

i- Write down two effects of deforestati i LS ek -

. ii- State the mutual relationship o fish and shark . -’.’.,_f-.’ b uu U™ ¥ S Lr'ﬁ =
iii - What is dengue fever? H is transmitted? Te O &L e & -
iv- Draw a simple food chain. b oL i

v- Define plasmid. . g S v
vi- Write down two advantages of single cell protein.. - il cﬁ:{ I J:’ -vi
vii - What.is difference between medicinal drug and addictive drug? S O/ YUt o nT E st ins & -vii
viii -  Write down the name of two drugs obtained from minerals. W rt Lol uf.,)’lo o ol - viid

Note: Attempt any TWO (2) questions from Section IL

Section - 11 e -

-é&k&&@ﬂ’f (2) ve (j:rc:.- u:"”...'o by

5- (a) Define dialysis and explain its types. 1+4(5) 2l uk el SutsgE w8 A8 () -5
e (b) Explain bicep and tricep muscles. 2+2 (4) Z5 woloy § F u;_r(jl/'/;l ..;56[. ()
6 - (a) Define neuron. Sketch its diagram. 1+1+3 (6) L{LJJJJE_AL&_._V.&'_;’J;J#J—@UJ&—(-JQ——-G—

. Describe their types an the basis of their functions,

(b) What is pallination? Discuss its kinds.
7 - (a) Define fermenter and write down a note
an its. different types.
(b)-Write down a note on any fwo main groups
—————of-antibiotics.

119-222-77000
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RIOLOGY Paper: I (("J qu{‘nﬁ-id.‘; J}d/}?) 221 - (1) II 24

The:

Jexr 19 Code: ’7461 ! ]:-4[—2-/

Y
"

15 Minutes (Group:I) Objective - u:';w/" (s;/.!f r) 2

Tl 12 1,4
B Bl B U Rl B G L L S e o QE Q17 Lt & & LoD C-B AUz Py o i U e o
5 " s & L, A P 4 A , " . ! ey
s B AR B S der S e 4 L s 2 S U k) e k! i A WL S ot S b
L
in plants gaseous exchange occures through R £ ke § e s L sy

A

nephrons vk {D) stomata L (C) nostrils /-t (B) alveoli ul';‘::' (&)

L i o 4 o 1 3 Vi - A > ¥ s - “/ ¥ ‘”’, g "\:\
Which organ temporarily stores urine in the body? Yo BF 42 o SR I R = av
liver % (B) kidneys «-x’ (A)

urinary bladder itz (D) heart J: (C)

S st gt L i il =

Which one is present on the top of medulla?

pons i (D) cerebrum s (C) midbrain <4 (B) cerebellum (L"u’,f; (A

Which hormone increases the rate of reabsorption 0wl &1 (T K L e e Al b e o
of water from nephron? S &4 7 AU

. . % N i ,f’ 3 . i b f 3 , s—
nsulin g7t (D) thyroxin ¢ Lo {C) oxytocin IS 1 (B) vas ODFG%SIH Seaze (A
Each chondrocyie iiegs in a fluid space called __ A e Y syt A Ty g}-/t RITITr s O

prasent in the matrix of cartilage.

joint .ete (1) muscle 7~ (C)

The transfer of polien grains from flower's anther
s t i is called as

paturization o707 (D | $7a1 nation @0y (B) fertilization o703/ (A)

- a5 E =
o ’; s P - L
U 7o bl o A £ e et

bronchi (€ (B) loci 57 (A

. -

& & i bl Foaem e Mmook 2
2ol Sl B Lo 252 0 2 ey U EiEW

is cafled asg wio B -

dinybrid cross UL AL (B) monohybrid cross . 34 Leer (A

tetratiybnd cross L,’é,.f’r.‘-_,-é’y;c (D) trihybrid cross 1/ 5,~:'Ld!/' )
#e L i

it acosystems of the wotld together form the SO . g/ P r"i* L

cormrum.y-‘w‘ (n population =% (C) biosphere A%y (B) ecosystem b (A}

LA o o > i P & >
Which one is not abiotic factor of ecosystem? S A A ) ¥ AR LU e S

B

A : Z ; wh :
water 4 (D) temperature A0 (C) ight (3 (B) producers Jarhy (A)

o ‘ ;o i
in___ scientisis were able to cut and paste the 2§ DNA L bl e L Wl
[NA of an organism 2 e el L

1990 (D} 1680 (C) 1970 (B) 1960 (A}

are the most frequently prescribed medications b Sofaulbie or B¥ e e g

in modern medicine. i byt S sl s

7
A

enzymes v (D) vacoings &% (C)  antibiofics LSH (B) antigens A0 (A}

118-(1-221-76000 o
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BIOLOGY Paper: 11 (o {201 (0%} JFUL) 221 II 24 A
‘Time: 1:45 Hours (Group: I) Subjective - JL’ﬁl (.,,/u,;) & 1045 =
Varks: 48 Qur-4 1-2f 48: /0
Note: Section Iis compulsory. Attempt any TWO (2) (2) e 3 = VAP G} i S
questions from Scction . _£o§'££..vﬂir
. Section - I Jil
2~ Write short answers to any FIVE (8) questions.  (2x5=10) -ﬂé{f&&lﬂ/ﬂéamf {(8) é& & d/ - &
Wihat are lenticels? S gg/,'ﬁ' \;‘ E

- Differentiate between bronchi and bronchioles. -e b %3 ..P’;-b.;/.' s &{J.,,.; -

i Define expiration. ._;‘-_f/..:y/‘ﬂfuif/;jf'%[

v - What is guttation? fe 1

v Wiite down the size of human kidney? __:f :,/’;;L, ¥ < '/u»

v - Write down the names of types of co-ordination. ' _;"Lf;;'/ﬁ?"t r. ok ‘”L--‘f O(u i ?- g
v - Write down the funclions of sensory neurons. -2 ,f foir \Jf;}’ et
v - Define nerve and write down the names of ils types. (. L d fhogl Ex il 7 \," ey
3 - Write short answers to any FIVE (5) questions.  (2x5=10) _cf,{fugl;’/‘if_wﬂir (5) & (// be dy - 3

YWiat is lacuna? ;. L;, »g_-"-
Write down two big functions of human skeletal system. = Pt (L’ uf-'g';ff;‘».-‘

- Define self pollination.

Differentiate between asexual reproduction and

sexual reproduction.

What 1s chemical composition of chromosome?
indentify two traits of pea seed studied by Mendel.

vh Write down scientific name of pea plant.

2
(.".’:’rt.—/oi“\é."l" L?..._LL,‘...,.‘\,‘\, % Rl

(2x0 10) -é’:(/u tf/“"ﬁ_«my (5) ﬁz b - é,‘", 4

v Write down the names of nitrogen bases foung

Differentiate belween actoparasite a ,‘_l w G L/’/‘.M‘/J’ i w 25k
vi - Defing symbiosis -:‘i .,,u) U S "‘ - n
- What is difference between ¢ and biotic components e OV Byl B e i r"“",ﬁ{: o 5y
of an ecosysiem? c
iv - Define fozd chain and give an example. s VL _C'l PR A ’7'(‘0:"’: 7
v - Wiite down the functions of enzyme restriction sad s ) K/- /‘ &
gngoriucleases and ligase. st {(enzyme restriction endonucleases)
&8 ey £ (ligase) £
What is meant by genetic engineering? fe 2irl Ve of 2 iy - v
v - What are narcotics? Give two examples. T Jj ZIRV L‘ -4
w1 Differentiate between broad-spectrum and narrow-spectrum Ji e J*rl, (l(f”";/- 2l u"vuy! S TP
antibiotics. -.:: S

Section - II (17 >

5 - (a) Describe the structure of nephron. (4) S gl il Ju:,_&" ()
{by Explain the types of joints in detail. (5) B g,b = J""I'w /;]'9 Gesd

b - (1) Write down a note on thyroid gland. (4) el g g A8 o (L) -8
(b) Explain two mechanisms of fertilization in animals. (6) _c‘: La)du;"/‘:';. J"/LL A Uil ()

i~ {a) Define anlibiotics and explain its major groups. (4) u-r)/r_./ st &L s i e L,r*v't..,“é () -7

g’
...'_".J., =l
:
s
Brd %
s—t ..L"‘ -f(’;,".f (‘.:/)

ih) Explain various steps of genetic engineering. (5) £ ooy § S ¥
118-221-75000



BIOLOGY

Paper: II
Time: 15 Minutes (Group:II) Objective
Marks: 12

mustard (Ur») 34 (D) rose JEKof (C)

(o W ey JEGLE) 221 - V)

Code: 7468 Q& J-€9 2.3 |

L ol2en e S u:/'béé.: 2L Jlr‘/;{ Q¢ diz _ujéé.: D
SR TSV SIS B SN IR M SR AR ) e L

1. 1- Which plant was selected by Mendel for his experiments?

I g¢

)

NV {g.:,;’ /#’:4; NP Jar

onion Jk (B) pea > (A)

2 - The amount of nitrogen in expired air is el O e § Sl U s Lt o sl
88% (D) 79% (C) 69% (B) 59% (A)

3 - Incomplete oxidation-reduction of occurs f(/t_/ SRS J"'/c Y Y1 - u’:“-’/
in fermentation. - Jn
glucose A¥ (D) lipids J4' (C) fats u}*} (B) proteins &, (A)

4 - If somatotrophin is excessively produced after el Nie anp ity o £ A wEA
growing age, it causes - b
tetany d"'} (D) acromegaly ug-”uf I (C) dwarfism (i3 (B) gigapti€m r)#.u}..&@ (A)

5 - The process in which an unfertilized egg develops E ke £ L (F JLL A Jo
into new offspring is called - bl vl s

| parthenogenesis u’-i""?",‘:‘ﬂg (B) probagation Sy (A)

fission (D)' 0%% tissue culture £ 2 (©)

6 -. The principal decomposers of biosphere are @ . S JJJ');(d Sex LAY,
fungi & bacteria | /:’-..C o ) ' virus 71 (A)

' parameci é@:ﬁ ) algae gfl (C)

7 - Which hormones are secreted byfé&é& Ut el ) e 7
glucagon w/¥¥ (D) te one ki (©) insulin ¢+ (B)  estrogen (st (A)

8 - Genes are made up of ‘ / Sl &

DNA (D) / mRNA (C) RNA (B) proteins <z (A)

9 s The tube between kidney and urip@ry bladder is the - (LK UE wien & 4Gz o s/

nephron s ¥ (D) repal tubule Ju£J (C) urethra l}&g (B) ureter 2.4 (A)

10- Antibiotic is a drug which stops the growthof ____ -« (> Ju /) e 2l F ..ffg&-u

' yeast & (D) bacteria | <& (C) viruses 75 (B) worms s (A)

11- What do some bones produce? o et ULk A

blood cells %2k (D) oxygen ST (C) hormones | (B) ~ mucous U (A)

12- Dengue feveris a/an __ infection. -y S 518 o4

algal L)Ql (D) fungal JD (C)

119-(IV)-221-74000

bacterial J}.‘.: (B) viral  J7 (A)

2 /Lu,_v'i /',UJJ

&

(o m) w15 12y

12 :U‘CL
J:fC‘BcAa:aUﬁ.:f/kZ./.J‘r/: HO%)
s f e uf_l,/.at £ ot 3 %

1.1
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BIOLOGY Paper: II (s W Ty JEGAE) 221 II 44 &l
Time: 1:45 Hours  (Group: II) Subjective .. Jt‘ﬁl (.r:/ )] o 1:45 =3
Marks: 48

Note: Section I is compulsory. Attempt any TWO (2)
questions from Section II.

Gu7- 42-2) 18:/
(2) we er_ uﬁr.u.b -q_d)ﬂd.'v".b Y
iz Loy

Section -1 JJl .o

2 - Write short answers to any FIVE (6) questions.
Why is larynx called voice box?

ii- Whatis glottis?
li- Whatis difference between a stoma and a lenticel?
iv- Define osmoregulation.
v - Write down the length and weight of human kidney.
vi- Define reflex action and reflex arc.
vii- What is nerve impulse?
viii - Write down the functions of glucagon and insulin.

3 - Write short answers to any FIVE (5) questions.
1- ‘What is exoskelton?

11 - What are ball and socket joints? Give an example.

1i- How "drones" are formed?
iv- Define self-pollination.
v - What are genes?
vi- Differentiate between genotype and phenotype.
Vil - “Deﬂne Mendel's law of segregation.
viii -

4 - Write short answers tp any FIVE () q
Differentiate between population and
-Write down the importance of de

'Why Mendel selected!pea plant? Give two reaso%

@x5=10) ez Floir 5) < 0f-2
fe bl Ul er TS, Jf;’
?q_ I..:rujlf -1
S YA i
_éh—!.’f.;Jug“J){/:‘?l -iv
-ﬂu); sl JLJ d/(_)f(.}ul -v
-é-&’/’JJTJa‘J»' «f"/’u’m
e U/ u’vl - vii
& i £ u-’,.-u st
2x6=10) - fepz Lot (5) by J/ , 3
eV olaliCuguSil -5
g\g}xmw"'@z Skdy -
Yug & é v ../.b(; a
S U LA P
R v
-2 Ok e e i
2 WP RESTIE Yo i
|20 "I;ru/ukl b’;”’ L pi Jir _viii
(2x5= 10) -é{/’..,wﬁé..,mr G b} J! 4
Wk 3R G oy
-é;{l Juu{d’) -1i

- 1il

9 \?é\o

iii - Write down the importance of food chain. EYhed § S i
iv - Define parasites. Write down its types. _4 rt L (u"l sl ..y/"' J u"’vl/g -1iv
v - Define biotechnology. Ay S Goegy L ww
vi- Define recombinant DNA. 25 /S DNA e -vi
vii- Write down the function of sedatives. o 411 oebedew -vii
viii -  Differentiate between narcotics and hallucinogens. UG Ikt g5 - vidd
| Section - II 1)
6- (a) Describe the structyre of nephron in human kidney. (4) & Yk sl Jus kb oSG (L -6
(b) Explain antagonism in muscle action selecting biceps  (5) £ #L /. e orduas ol ()
and triceps as an example. & yu:g,((‘/'f ot S _
6- (a) What is forebrain? Explain three important parts of ~ (4) -&& wobss U (IEL U1 S Vigasd () <6
‘ this region.
(b) Describe the artificipl vegetative propagation in plants. (5) -2= Wi /. Aof' s u’-“c % i S s Uy (&)
T7- {a) How bacteria develbp antibiotic resistance? (4) ecopeiiwl U"‘:’KW oS Ll () -7
| et/ 1
(b) Define ferméntation and write down its application (5) ¥ Ut u—"sq & ’é i s u’-fk/ '(..,) .
on industrial products. Y

119-221-74000
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Biology (New Scheme)

ot A Ly,

Paper: II (/% JE 11 o JPGJZ‘.?) 220 - (IV) Il 2y (r‘-‘!: €) Sk

Time: 15 Minutes (Group: I)  Objective u"fv/“ (.T,f Ur) O 1 O
Marks: 12

Code: 7467

12 : 5
5 A s = ui'u:/'b&fé,)é‘.L«£Jfr;44KQ'£ ..u;?éédDJJ’CtB‘Aéyﬁ,:ﬁ/l‘o&'Jf)’/: {7 S

1- Renal Pelvis is a part of

kidney <./ (D)

is not a part of hindbrain.

medulla oblongata W& )% (B)

cerebrum xS (D)

3 - Stem Tuber is an example of

potato J7 (D)

4 - %age of Oz in expired air during breathing

atrestis

percent.
30 (D) 79 (C)
5- A coordinated action ends at
heart s> (D) coordinator .7 (C)
6 - How many bones make our skuli?
24 (D) 26 (C)
ou

Pencillin was discovered by

8 - Decomposers are

fungiand b

9 - The alternative form of a gene is

histone s (D) locus Y ©)

10 - In which year Human Genome Project was started?

2000 (D) 1990 (C)

1l - is not a biotic factor.

soil (" (D) bacterium ¢ 25 (C)
12 - How many pairs of homologous chromosomes are

present in human cell?

56 (D}

28 (C)
122-(IV)-220-65000

heart () (C)

ginger . (C)

Darwin 45 (B)

DNA < iy i (B)

S A Y . 1Y

lung < % (B) testis ™ (A)
- B PLY )

pons 7L (A)

cerebellum %6,{ ()

(Stem Tuber) /.::‘(-:’

ulip Juf (A)

St ST s £ & Lt s,

e 0 AT

e O J
garlic cﬁ" (B)

16 (A)

- b é ? (L:"-"l SO N
response u”%)

<
s@%
Fleming £<° (D) Robert Hooke ® .:,&
<&

stimulus "% (A)
14 (B)

22 (A)
v =30 (Pencilling oobas o

Lamark i (A)
- J,»;,{d 5

algae sf,.' (A)
animals st (C)
SRS ¥ 49
allele 21 (A)
Tise {s P LL2ly 32 S Jb Vi

1980 (B) 1970 (A)

e LB

plant Ly (A)
Wt Lne iz &L pred Sivm 3

animal ,Jb (B)

46 (B) 23 (A)

K ? i -7 015 W .:'.«J:“Ji../(,é/.b(&i./x:fu:jb ol e \-49 ..'é')/c. V_’}'I,/CL :(ofb}h'? Jb-
1.

o M |
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-11

- 12



Biology (New Scheme)  Paper: II (s I II ol JFELE) 220 II 3¢ (f"-c %) §J
Time: 1:45 Hours (Group: I) : Sub]ecnve JW (.r:f & 1:45 .25
‘Marks: 48 &y i /0r y =20 48:/%

uW L ety (2) ne éfuf(”‘.o <t

Note: Section Iis compulsory. Attempt any two (2) questmns from Section I
Section-1 Jil .o
2 - Write down short answers to any FIVE (5) questions. (2x5=10) -é {f .:uz/"‘ C.:«Wr(5) ég - Jf -2

i- What are lenticels? W LSRG
ii- Define expiration. -é .»/7 u(cﬁ-’xdf‘( -1
iii - What is diaphragm? e U/ i
iv- Define guttation. Ay (A iy
v~ How skin produces cooling effect to body? e J/ L S () C)"/ Mo v
vi- What s the function of myelin sheath in neuren? e iz’cf’L Sk -vi
vii- Define nerve. LZEWFSE i
viii- What are the functions of pons? G JSI LA i
3 - Write down short answers to any FIVE (5) questions. (2x5=10) -2,{{/’ u{.li/‘* L =y (5) 6& & Jf 3
i- Differentiate between endoskeleton and exoskeleton. -2:’: W G2 ohalian ganl ot halias sinl -
ii- What are biceps and triceps? Lot U g (B3 o papn SL -
iii - Define suckers. Write down two examples. Q - 2 380 L
iv - Define spermatogenesis and oogenesis. é:’/ -2 /7 J u"'y 39! sl (,r““f;:‘/;' - iv
v - Write down the names of any two nitrogen bases present {&% ST n S gjf Sy Sy ng L DNA -v
in DNA molecule. e
vi-- Give two reasons for selection of pea plant @‘-&5’ J..B-m. <~ VA Juti’a.l K Jkr -vi

for his experiments S AT SE
vii- State Mendel's law of independent a t@@ -’éf Ui Mrl.:f‘.i'rdfcl ST ¥l -vii
viii - ‘De‘fine natural selection. -L - /’J <3 dw - viil
FIVE (5) questions. (2x6= 10) -é; Fetiz B L iy (5) ét e §/-4
e sip Ve o539 -

4 - Write down short answers
1- What is meant by food cha

ii- Whatis pyramid of biomass? ‘ e tr VAASTI -
iii- What is ammonification? St & L oS Sgel -
iv- What is assimilation? St L S v
v- What is meant by lactic acid fermentation? fe iy Ve gff“")}m B -v
vi- What is meant by continuous fermentation? Se iy y’ e u’-"‘"’}d"/ -vi
vii - From which morphine is obtained? fe db Mol -
viii - - What is the usage of antibiotic drugs? Y I Wl SV - viii

_ Section - II r‘”?'“
‘5 - (a) Explain osmoregulatory function of human kidney. (4) & e ol uiﬁd/‘-:')fzf,l Keod du (L) 5
(b) Write down a note on reflex action. (5) & iy Sl Q“J (&)

6 - (a) What s cartilage? Explain the three types of cartilage. (4) -5 oo los oruuﬁ 44 5;? 7l Z:/ ¥ (L) _ 6

(b) Describe the development and structure of seed. (5) -i Wk =31 g St 68 (..,,)
7 - (a) Write down a note on single-cell protein. (4) & JJ.J‘/ uf:/ J-’J{“ (W) o7
(b) Describe the types of medicinal drugs on the basis  (5) r.»! i ._A»l oib = UL Eus (L)
of their sources. -zf Uk
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Biology (New Scheme)  Paper: II  ((% YW1 % J,C $/2£) 220 - (I1I) II 24 ((-J-: %) Sk

Time: 15 Minutes (Group: II) Objective u‘fe/“ (g2/ 1) Lo 15t
Marks: 12 Code: 7466 12 1%

y y'ﬁ..:/uc.Ju:szﬁé.:&.bé:d&;;@b’g}b? ..ugéc:._)DnlC‘B:A::«I,'i..'f/kcid'r/: T
g ! ax:&gﬁa;ﬂg{i.fﬁf&b’&d‘-fé:{u;/'b wie S e u}‘L/CL oot 32 b

1. 1- Expired drugs can cause damage to fﬁm S F Lt Sl L?‘uff;,t' -1
- b Pl
stomach <. (D) kidneys Usn./ (C) heart s (B) lungs Urs® (A)
2 - The design and arrangements for continuous S dx Ay L L/(u’-“’"}" JJ/ -2
fermentation are
un-complicated aé,;:v/f D) impossible uc' t (C) simple b (B) complex »:% (A)
3- The study of interrelationship between organisms o & e gen &SPV sl usitile -3
and their environment is called - &f s
physiology $.4L7 (D) histology (&s/¢: (C) ecology (/¢ (B) cytology SJEL (A)
4- is the example of tertiary consumer. e b ¢ /{7'/;,5,5} -4
hawk ¢z¢ (D) sparrows 7 (C)  snails &4 | leaves Z (A)
5 - In transcription, the specific sequence of DNA ncleotides 7 Bt L DNA @l £ u"%/ﬁl/‘ -b
is copied in the form of nucleotides. & b() o d" Soxe L R e
RNA - polymerase (D) mRNA (C) < % JtRNA (B) HRNA (a)
6 - The locations of genes on chromosomes are ca '% - ;,{ Sl L 7l L ]rr’:/ -6
nucleotides JX¢ .:gy:i (D) RNA o I ¢ DNA o l.gl-$s (B) locus JS’ (A)
7- Which method of natural vegetative re on e bl b 3/ V¥ u’-’g'»; A I
is found in chrysanthemum.
suckers .~ (D) tubers 42 (C) bulbs  (B) corms »4 (A)
8 - How many bones are organized into a longitudinal axis Uz r”” Ut = § 7§ L G u”i}t () dU -8
of human skeleton?
306 (D) 302 (C) 208 (B) 202 (A)
9 - Deficiency of which vitamin causes night blindness? e 3:: = 2 J d/ J ks u/ 77 [ L
A (D) K (C) C (B) B (A)
10- is not the part of hindbrain. - 22 K4 2 -10
medulla oblongata u_.fu,,-l his (B) pons 7L (A)
cerebellum (’-’}( (D) cerebrum ¢z (C)
11-  Inhumans larynx is made up of - bl ¥ Jij et - 11
alveoli Juys (D) cartilage é( (C) hard bones $i=* (B) bronchi  (Ksz (A)
12- ________isthe name of outer region of longitudinal L Ssa L2000 oS3 -12
section of human kidney. ' e
~ renal medulla 52 % (B) renal cartex Jg/b’ S (A
renal pelvis %% 5 (D) renal pyramids % !7L JJ (C)

123-(11I)-220-62000

action of vaccines. ~&22
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Paper: 11
(Group: II)

Biology (New Scheme)
Time: 1:45 Hours
Marks: 48

(% U TL2uy JEGLE) 220
Subjective Jﬁ‘Jl

&7/’0'4 2 2P

I ¢4 () B
(.g«,fl/”) 1145 123

48: /%

éuw’ L ey (2) ve J:(ufr».p ..q..dAJ Jilae ud

Note:

Section I is compulsory. Attempt any two (2) questlons from Section IL

Section - I J3 »
2 - Write down short answers to any FIVE (5) questions. (2 x5=10) -gﬂ‘;{}auxﬁ‘c@ums) é&c— df - 2

i- Define cellular respiration,
i1 -
iii - What is lungs cancer? Write down its two causes.
iv - Define succulent organs and give example.

v - What is dialyzer?

vi- Write down the names of two types of coordination
in organisms.
vii- Define reflex action and give an example.
viii - How ears maintain the balance of body?

Write down the function of mucus present in nasal cavity.

Ry RSPV S

& Py Senr L ELIE -ii
&l ez § Ut S U A K Ut
& S 2 S AR
Se WY -v

értérul» J/u‘*" ’fu‘ ke

-1

-1iv
~-vi

STy Jj'uaj}' io_ﬁl/‘.’:ufuici f?j" --\'ii
o éJJI// d/UJU‘ Kr o

-yl

3 - Write down short answers to any FIVE (5) questions. (2x5=10) _i,{/’uy.?/ﬂc‘:ulﬂr (5) 5!.4 J/ 3

i- What are osteocytes?

it - What is meant by tendons?
iii - Whaty is meant by budding?
iv- What is meant by parthenogenesis?

v - What are homologous chromosomes?
vi- Whatis meant by loci?

vii - What is meant by genotype?

)

viii - Define incomplete dominance.

4 - Write down short answers to any
i- Whatis pollution?
ii- Write down the names of tw

iii -  Write down two significant ill effects of acid rain.

iv- What is global warming?

v - Define fermentation.

vi- What is continuous fermentation process?

vii - What problem is faced by development of antibiotics
resistant bacteria?
viii - Differentiate between narcotics and hallucinogens.
Section -
5 = (a) Explain xerophytes plants. Give an example.

(b) Write down five methods of natural vegetative
propagation in plants.
6 -~ (a) What is arthritis? Explain its three types.
(b) Define binary fission. Describe this process in
bacteria and amoeba.
T - (a) Explain groups of fermented food.
(b) Write down a note on vaccines and mode of
action of vaccines.
123-220-62000

nvironment friendly fueis.

ou"z.y'u/u’yvr"ﬂ -1

(-'c‘_)/l_g(c.-/w::' -1

<

@ °§.:'/Lf:_._€:§ - 111
o@\o e fe vEEL
A

fur Lx s/ JC’/:’: -V
e s Ve L;K)’ - vi
-vil

5, sy l/c. Al
i S w‘“‘

~ V111

5) questions. (2x5=10) _igj’..ylfﬁé._.mf(ﬁ) étc, JJ/ 4

Y- l,fd{:ﬂ =

-ﬁ*”;téuﬁyl ern Pl -di

) P u....u‘/L e

e VBt bF v

e YJSY ST

i 2L L’}A/JL&.J.JU'-JFLJ"
?‘é,lu:;rh{ga,ggxl&
O A S - vidi

- 111

-vi

- Vil

II (9 2

(4) -2 e ety fum Uy (D -5
() 24 L HBd bt um (O

(4) oo BEd Ut VUIAT (W) -6
(5) St b 2 S8 P (L)

eolnd

(4) Z v ASE S3TES e M5 () -7
(6) wip Kl i SokE s 55 (L)
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Biology (New Scheme)  Paper: II (("3 JW Il sl d)‘d;ﬁé) 219 - (I10) Iz4 (" -0 1_;,’&,
Time: 15 Minutes (Group: I) Objective Lﬁf’ (,«:f ) 4 15 12
Marks: 12 " Code: 7465 12 :

¥l !:’../zu;,L}Iu:/bcfc_Jr_’.lrﬁdlr//Qb/db’ -u‘éc_)D»lC B« A..U:’.f/bLJ’)‘/: 0%

K gl -2 w’:s ...ur‘(!d_/.c UKLL./,‘fu:/I: wlie S .25 f e el L AL l(a/b.niaf Jb
SO I Hydra and corals reproduce by means of S/ u’(»;./ 3 & W%y -1 .1

binary fission % GA (B)
fragmentation oduiinds i (D)

budding £% (A)
spore formation S (C)

The cardiotonic used to stimulate the heart is called . lf db-fl cl_f ik /‘f bz Legh¥ -2
- l'Uv{
analgesics u’c”&l (D)  paracetamol Jrtxiz (C) digitalis Lfl":}} 8) aspirin ¢/ z4 (A)

3 - The waste material that are removed by coniferous / i & U ):’f LKl -3

trees are called // -
muscilage G (D) latex 2 (C) "'/gums # (B) resins Zys (A)
1- Anetwork of food chains which are interconnected at  / Jip {1 § 2 33 (o $ 27 & ATy M KU B -4
various trophic levels is called / - g
pyramid of numbers J .,uut (B) @@:omass JLEL (A)
food web s 37 (D) ,- biomass £ 1417, (C)
5- The term "true breeding" means @ s M EL s kel -5
homozygous Jg Liyy / (B @ heterozygous JQ lisza (A)
homologous ﬂxx % heterologous «f;"ﬁ (C)

6 - product is used in the production o } @ - dﬂ JEt 2 ks u’@ ¢ ..:f:‘l{ -6
formic acid 421 576 (D) O/ (C)  ehanol Jsis! (B)  glycerol Js & (A)

7 - The number of hydrogen bonds N adenine s § Sk Sy Jen & R Lol -7
and thymine is -

4 (D) 3 (C) 2 (B) 1 (A)

8- The cells of cartilage are called N ra x*L é"jK -8
osteocytes U~ Lzl (B) chondrocytes (*Ls.%6 (A)
“matrix % (D) lacuna t (C)

9 - The special glands present in tﬁe walls of auditory canal ______ 2Ur JJ‘/:‘;@' Uslgs J JoLY /;i -9
which produce. , -u_;é_/ &%
nerve impulse U %15/ (D) blood 7 (C) wax J—r: (B) auditory fluid %¥$%37 (A)

10 - In non-smokers who are exposed to second hand smoke  « b b K/ L U IVt =l -10
increase their heart diseases risk by - 2’: ¥ 0)5 ¥uysle J sl &
30-45% (D) 25-30% (C) 20-30% (B) 15-20% (A)

11- The material containing sperms and fluid is called - VIP.{__ sy ‘}""/ £ 2 27 =11
scrotum 54 (D) semen ¢f (C) folicles 4<% (8)  hormones | (A)

12- Pons is present on the top of <ty p L& (Pons) 7, - 12

medulla 1,4+ (D) cerebellum (*‘[ (C)

~

127-(111)-219-61000

thalamus & (B)
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cerebrum [z (A)
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Biology (Few Scheme)  Paper: II (o U 11 2 JEAE) 219 II ¢ (ﬂ-‘ %) Sk
Time: 1:45 Hours (Group: I) Subjective Jl‘ﬁl (u‘-d/ Ur) & 1:45 : =%
Marks: 48 48: /%

2 22 £ = ey (2) ve (jfufr».o Uit e ud
Note: Section I is compulsory. Attempt any two (2) questions from Scchon IL

Section -1 Jil >

2 - Write short answers to any FIVE (56) questions.
1-  Write the causes of asthma.

i - Where lenticels are found? Write their functions.

ui- Differentiate between glotis and epiglotis.

iv-  Write symptoms of kindney stone.

i v - Write symptoms of kidney failure.

vi- Write the names of four parts of neuron.

vii- What is difference between gray and white matter?
viii - What is myopia? How is it controlled?

3 - Write short answers to any FIVE (5) questions.
1- Define ball and socket joints. Write its one type.

u-

Gx2=10)  -Zyfep2 Lo 5)§L 8- 2
-éub ...4:’: JMJ -1
P L Ly o AE i
EOh LSS SE -
-é(fatﬂi de.’,‘ Jg)/ -iv
-éu_l(. ol L;L‘gn/&._. P

-Z_i:gfrt ¥ ol UI"J&? L gl -vi
e PR KK S
fe th lfd"b J;/c.f/ e b JV:’GL - viii

Gx2=10)  -Z fepz Loy 5) ! Jf

Y S A I e JJ’!;J»MJ;

- Vil

Write down the functions of tendons and ligaments. <e/ 1L SO 2 i
i1-  Write binary fission in planaria. é //‘ u’ 6/& " ,e-"’ -1ii
v - Write the process of spore formation in sporangium. {\{{)ﬁo i ;/‘J" Kb ume ,(“ e -1y

v - Define internal fertilization with example. % 5 b e Jo i f FWASF v

vi- Differentiate between dominant and recessive. -z 5 I L vl wxhd -vi
vii- Define law of independent assortment. S @ ..f-f_': - QU &Sk ST -vil
viii - Write benefits of artificiai selection. Q@ B PS8 i

4 - Write short answers to any FIVE (5) q
1- How smog is formed?

11- How ozone depletion is occuring?

i - How land pollution can be controlled?

iv- How does continuous fermentation occur?

v - What are transgenic plants and animals?

vi- Define synthetic drug and give one example.
vii- List four names of drugs obtained from animals.
viii - Differentiate between antiseptics and antibiotics.

(6x2=10) -2 feiz Pl (5) 6L §F -4
el S
T4 tﬂ/ﬂd_,JJU:uf -1
fe F UL W& i
?4"_ 8::4_": u’-'k’/d'v -1iv
N 497" P, v

-2::)(){‘/&9/5'2_{._2/‘7(;...55..@‘* - VL

B L Sshedhin Lo unde -vi
E kI LG J%C{-i - viii

Section - IT (93 2

b - (a) Define homeostasis and discuss about mechanism
for the homeostasis in plants
(b) Describe the role of adrenal gland and pancreas.
6 = (a) Write note on bone.
(b) Explain female reproductive system of rabbit.
T - (a) What is meant by acid rain? Write down its
three effects.
(b) Define fermentation. Describe its two basic types.
127-219-61000
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Biology (New S i
gy (New Scheme)  Paper: II ((72 JW Il dpdlﬁ?) 219 - (IV)

; . II 5/ (=) &)
= : 24 %) Sk
Mnmc ;5 Minutes (Group: II) Objective G ( :fl/») 515 =3
arks: 12 ‘ v )
p Code: 7468 12 : %

e e B ) & & &3 L L J'r// QK(}U’ _u‘éa,: DsCcBA Lli.f
-bf-zr‘”ﬂ- -2 u!.ou'-.—u‘d,é../.«; u(l'é./4:(u:/b ok e Ll e .
1. 1- Micro organisms found on non-living objects are il
destroyed by

Jdeb’/; HO%
A LA fuu..wduy

PRz e 1 .1

U e et
disinfectants Wil Gu3 (B) antiseptics G (A)
analgesics 1 (D) antibiotics %L1 (C)
2 - Smog forms a yellowish brown haze and “-_ (3 S| e K23 S5 J1 g L N B
hamper visibility during. oy 3/ f»» S '4__(, o
autumn U7 (D) winter U#;- (C) spring s« (B) summer uz/ (A)
3 - The blood group of a person having genotype (ii) is -G bt - ¥y b’u“"’ Ly (i) G652 -3
0 (D) AB (C) B (B) AR
4- After fertilization in plants the seed develops from e U 4—. sl O S A Un{ -4
petals /¥ (D) sepals A4 (C) ovary ovule Jgs (A)
5. The neurons having one dendrite and one axon O+ ..fl s e LR S -6
are called % eas
mixed & (D) sensory (%< @ inter # (B) motor /* (A)
6 - The plants which live completely or partially s 0 P N = d& by #5272 .}; Zesgdl -6
in fresh water are called /_/"' <& - o
bryophytes ~Glc (D) xer s U isys (C) halophytes JGsk (B) hydrophytes U~ bs 4 (A)
7 - Destruction of walls of th li is called - s b 29 € Unilgs g éug;kl -7
bronchitis J"'h’b/. (D) pneumonia y:" (C) emphysema b:o‘fl (B) asthma . (A)
8 - A coordinated action has __components. S o7 L Jf L cffd}ﬂf -8
5 (D) 4 (C) 3 (B) 2 (A)
9 - Which point_of‘ ‘attachment on bone is pulled (L Wiz da¥U I e S Ll =9
when ﬁ ,mu,scle contracts? = B,I
insertion </~ (D) extension == (C) flexion vfgj (B) origin el (A)
10 - In flower stigma, style and ovary is collectively called_ - Zf e u"&:’ff Sl sl J’I‘,«U"uﬁ JE -10
carpel ¥ (D) stamen v© (C) petal J¥ (B) sepal & (A
11- The locations of genes on chromosomes are called g Sl Ry L/ -1
phenotype «* ¢4 (D) genotype ¢ (C) alleles # (B) . Io.ci & A
12 - is an anti-viral protein. ) ¢ oFay J7 b . <13
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